) ot /- 4

Racing Screers

MOTOPLASTIC, S.A.

info@puig.tv
www.puig.tv

Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN

info@puigusa.com

www.puigusa.com

CUPULA RACING ADAPTABLE A - RACING SCREEN FOR - RACINGSCHEIBE FUR

KAWASAKI NINJA 65047

[

ID| PIEZA/PART | DESCRIPCION

Cupula Racing

Ref.: 9711

1 persona
1 person

o Facil - Easy

Media-

Dificil-D

DESCRIPTION

Racing screen

9711C/F/H/N/T/WM3

2 @ Arandela de goma @4,5 x @11,5 x 2mm @4,5 x @11,5 x 2mm rubber washer 4 ARAND-EPDM--722
3 oy Tornillo Allen M5X16 @9 1SO 7380 M5X16 @9 ISO 7380 Allen screw 4 TORNIAI7380-281
4 Arandela de nylon M5x1 (negra) M5x1 nylon washer (black) 4 ARNV00000000245

Pg. 1/2

Created by: www.ciandisseny.com



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

) ot /- 4

Racing Screers

CUPULA RACING ADAPTABLE A - RACING SCREEN FOR - RACINGSCHEIBE FUR

KAWASAKI NINJA 65047

o

Pg. 2/2



